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1. (a) (14 points) Find the inverse of the matrix

(b) (6 points) Using the inverse of A solve




2. (25 points) Find the corresponding augmented matrix for the following system of linear
equations. Use Gauss Jordan elimination to bring the angmented matrix into its reduced
row echelon form. Write the solution set, for the system, Check your solution set by finding
two particular solutions for the system. Determine if the system is consistent, inconsistent,

dependent or independent,
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3. A couple purchased a 180,000 YTL home 5 years ago by paying 20% down and signing
a 20 vear mortgage at 10.8% compounded monthly.
(a) (6 points) How much did they pay each month 7
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(b) (8 points) What is the unpaid balance just after they made the 60 deposit?

Lo fgﬂro&:\ PN CY -fa.r,s-;_ Thas  ua F_a-:a! L#l."’ﬂ 38
“i§<dg

oy |L6b,8o_t- l'hﬁ,ﬁt}ﬁ)‘
0,008
Py - {30L9O, 1 971

#‘__.,.-r;'ﬂ"'""___.-

(¢) {6 points) Suppose the couple inherit now 50,000 YTL and used it to reduce the unpaid
balance just after they made the 60" deposit. What is the new monthly payment if they
decide to sign a new 15 year mortgage with the same interest rate?
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4. You decide to open an account with an investment bank at 13, g%mmpﬁumd&d monthly.

(2) (10 points) How much do you have to invest every month for 11 years so that you ean
withdraw 3000 YTL every month for 9 years? (You put money every month into your
account for 11 years, and then withdraw 3000 YTL every month for 9 years)
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(b) (7 points) If the investment bank goes bankrupt (iflas) after 17 years (17 years after you

opened your account), hﬂw much money do you loose (kaybetmek)? (How much money do

vou still have in your account after 17 years?)
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(e} (* BONUS* = 5 points) How much interest did vou receive in these 17 years?
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5. (a) (10 points) Al puts 10,000 YTL into an account at 12% compounded monthly. Veli
invests 8000 YTL at 15% compounded 'm‘:’nth:i.lf* After at least how many months does Veli
have more money? How much more does he have then? _ u_
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(b) (8 points) An investment increases from 800 YTL to 1100 YTL in 40 days. What is the
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A list of formulas: I'=Prt; A= P(1+rt) =
A=PQ1+i)"; APY =(14+ Ly —1;
A= Pert; APF —e— 1
FV = pyriEsr-1l

PV = PMTEED where i = £ and n = mt




